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General Instructions :

1. The question paper consists of 2 sections - Section A (having 27 questions) and

Section B (having 12 questions). You are to attempt both the sections.

All questions are compulsory.

There is no overall choice. However, internal choices have been provided in all

guestions of 5 marks category and 3 questions of 3 marks category.

All questions of Section A and all questions of Section B are to be attempted separately.

Questions 1 to 4 in Section A and Questions 28 & 29 in Section B are multiple choice

type questions and carry 1 mark each.

Question 5 to 10 in Section A and Questions 30 to 32 in Section B are very short

answer type questions and carry 1 mark each.

7. Questions 11 to 16 in Section A and Questions 33 to 35 in Section B are short answer
type questions and carry 2 marks each.

8. Questions 17 to 23 in Section A and Questions 36 & 37 in Section B are also short
answer type questions and carry 3 marks each.

9. Questions 24 to 27 in Section A and Questions 38 & 39 in Section B are long answer
type questions and carry 5 marks each.
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Section - 'A' (@g-‘31")

1. From the following, identify the case for which there is a net unbalanced
force acting on the object :
(@) A mass suspended from the hook of a spring balance and at rest.
(b) A 'tug of war' match in which neither team is moving.
(c) A fruit falling freely from a tree.
(d) Two boys pushing a box with equal and opposite forces.

frrefefaa feafadl § 9 frg fafa & og W ©F erEdfoa 9o o @R
a) Tret foin Sofg & gF 9 ofeat a%g S fer 2

b) TEEHIN 1 Gehraren s &g ff <ot fear &l o @I 2l

c) fordl ga 9 fiRar gan wal

d) T g W fRd Tk W e qen e falieht 9t @ ® 2

(
(
(
(

2. Out of the following the liquid, that is least likely to conduct electricity, is

(@) vegetable oil (b) orange juice
(c) vinegar (d) tomato juice
frfefad 5o & o ®F 9 59 | fagd Yot 89 &1 e 9o FH @72
(@) aF@fd da (b) TR HT W
(c) Tatahr (d) ZTHRERX &1 ™
3. Out of the following, the 'fuel' that is an ideal fuel, for generating electricity, is
(@) hydropower (b) coal
(c) a battery (d) bio mass
frefafed § 9, fog@ saaea 2g 8 sneet ‘Sem’ urn <im =nfew?
(@) foga wifsa (b) el
(c) Tw &l CEEIEED
4. 'Leaf drop' in plants is caused due to the harmful effect of
(@) Carbon monoxide (b) Nitrogen dioxide
(c) Carbon dioxide (d) Chlorofloro carbon
e ° ‘ofi g’ fSEeh gwE 1 oste | el §, 9% ®
(@) g AFRIFARES (b) TSISH SIg3TRIES
(c) Thia SRS (d) TR AR hieH
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10.

11.

12.

Why does a ball, rolling on the ground, in a straight line, come to rest after
travelling a certain distance?

S TR el o W ofgshdl g2 Uk 1 % 5 9 i % 9% T 4 Sl 22

Write any two methods that may be used to make distilled water act as a

conductor of electricity.

FE 3 O W aE SFe g T™faq Siad i foga &1 gaees 9 S
kel 21

Write any one change that may occur in an electrolyte when an electric
current is passed through it.

fohell Solaeicee o foR[d 9 & Jare & ®RU gH ale fhdll Teh 9iedd & R
T faf@u)

Why is pure gold not usually used for making jewellery?

IS G HERUEE Sel o F | g&ae @ @l fhan S @2

Write any two uses of coke.

‘i’ & BT < STIM AW

Why is the use of biomass better than that of coal? Give two reasons.

Sifereh o1 TN g o TEN § SEal i Bl 82 & Nl dargd|

Two objects, 'A' and 'B’, of masses 10 kg and 50 kg, respectively, are moving
with the same speed along a straight line. Which one would need a greater

force to stop it? Why?

T aEqyd, ‘A’ 3R B, TS oM %I 10kg 3R 50kg B, Tk & Tfd 9 T et

e W I @l 21 fhgeh! Uk & foIw Sy ot b1 STagaehdl 21?2

How are seismic waves caused?

fa . A fa
HenH4l aA ehH S eldl %7
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13. State the two properties of liquid pressure illustrated by the diagrams, (a)
and (b), given below.

Water

Stream

(b)
W U M o, (a) 91 (b), ReAF 3@ & S G I O I K@ R 22

Alternative Question for visually challenged Students
gfte gwifaa faenfofat & fau defous wom
State any two properties of liquid pressure.

T T o e O S|

14. (a) Why is iron used for making large water boilers?
(b) Name a non-metal which is used as an antiseptic.

(a) RO o3 :
T SeTer I 9 S (21efq i dfFer) |i] ¥ 9 9 2
(b) Teh S7eITg 1 A9 odrEd S MR (CIifesr) & €9 § 9407 i Sl 21

15. Explain the following processes :
(@) Concentration of an ore

(b) Reduction of an ore
Frefafaa fafial = a9emed -
(a) 3T9H 1 &SVl (FHAITH)
(b) 31&n o1 ‘fremdor’ (Resem)
16. (a) Write the name and composition of the alloy which is used for making
aircraft bodies.

(b) Write the composition of the following alloys :
(i) Steel (if)  Stainless steel
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(a) 39 THiS@ og &1 9 SaEd S g Sers ol ‘IR (HT a(eSl) T H |
T B 21 g8 ot Targd fF og fea-fea ugett & fagor @ 9t ?)
(b) =1 fag =gsti =1 F@E JaEd
(i) =« (i) VeE €
17. (a) Define atmospheric pressure.
(b) Why does the number and intensity of storms increase during the

summer season?
(c) State any two applications of atmospheric pressure in our daily life.

(a) drgHer™ g I aRwfd w3

(b) WeA g & qEEl o1 dioar 3R Fea i o Sl 22

(c) &R 3w Sfam &1+ I feafe gqgd st aEued™ @ W fask
FI T

18. (a) State the effect of force that is associated with the following activities :

(i) A potter making pots.
(if) A goal keeper saving a goal, by kicking the ball away.
(il1) A batsman hitting a cricket ball for a 'sixer".
(iv) A player taking a catch.

(b) Name the kind of force present in the following situations.
(i)  An apple falling from a tree.
(if) A bicycle moving on a road after the rider stops pedalling it.

i
(a) Trefafad fead s & $F ¥ 999 ¥ gafed 82
(i) TH HRR Th 1 @I 2l
(i) TH A Wk T H a90 & fod 7 H T WE B <l 2

(iii) Ueh dcidrS] <hl Sekhl HAT

(iv) T Taeret &1 &= gehel
(b) TAfafea fuafadl § @H a1 9a &1 IR JqEd ¢
(i) U ¥ fiRa gem w& Ha|
(i) TR =l g Ugel W oM T @ §c i M 9 i & o5 qgh
T Tt gg b dgehall
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19. Manan is a very intelligent, honest and truthful boy. However he is also
lazy and careless. His teacher recognizes his potential and keeps on telling
him that his lazy and careless nature acts like friction in his life. She
always appreciates his abilities and good leadership qualities. She guides,
encourages and motivates him to overcome his shortcomings. Manan is
improving his habits and is thankful to his teacher for her concern and
efforts.

(@) State any two 'values' displayed by Manan.
(b) Name any two 'values' that one can associate with Manan's teacher.
(c) Why does Manan's teacher compare his habits with the force of 'friction'?

T Toh BIVEN, SHMER 3R §9 sior oiell gl | oifeh o8 3ol 3R
ARATE oFf &1 SThT TeAMYRT SThT T 1 TEAM € 3R Fhedt & o ST
T T ATRETE THE T Siod o S0 el 1 @ &1 98 STeh IOl qe
3% <Igcd &l 1 Yl HLdl B o SHePT HNGYH hich Al SHR S8 TThT
SH o S B R FE & o dieafed w7 A0 el § guR e
W@ B g8 A9l ereAfeh & vl oiR sue ufa fe@i e & fod s
TR

(a) 9 & @YE & hlg & Haqed farad|

(b) H1 i 3TeaUehl N W T i &1 Yiaged fafed

(c) T 1 TR 4 STh! Mdl 1 ol o0 9t o o i 22

20. (a) State any two precautions that should be taken by people present
inside a building during an earthquake.
(b) State the purpose for which Richter Scale is used.

(a) Y™ & 999 frdl word & ST oTel Al g0 &t A el &g &
qraura garsd|
(b) ‘FieX whd’ &1 ST R 9aH & T fhan smar 22

21. (a) You are provided with a strong bar magnet and a coil of a well insulated
copper wire.
(1) How can you light a bulb using these two devices?
(i)  How can you increase the current in the coil?
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(b) (i) State the name of the phenomenon related with the above
situations.
(i)  Name the scientist who discovered this phenomenon.
(ii) Name any two devices whose working is based on this

phenomenon.

(a) S9! Teh Traleh AR ql i Teh U1 (Shider) Suaisd i T 2

(i) =1 SF * TR 9 379 T d9¢d i Y S H Ghd o7

(i) "RTferent o wenfea e el fom@ o &1 7 Sd agm@n S Wehdl 872
(b) (i) W feafqal ¥ wwafea fwan =1 #0198 &Ko ™ 22
(i) 39 9ihan &1 @ form dafies o & fi?

(i) 39 9fRan & Rl T SUAN ddsd|

OR ( 3T9dT)

(@) State the type of energy conversion that occurs in a voltaic cell.
(b) Name the two electrodes and the electrolyte used in a voltaic cell.
(c) State any two applications of electrolysis.

(a) difeediss a1 § 8 dlel Sl URad & YR & IR H oaEd|
(b) difceaies ¥al H TP M el SHI Soiaeiel ad Seiaeianse o - fafad|

(c) ‘foe@ oTU&es’ & &g 3 YA Al
22. (a) State any two causes of increase in concentration of greenhouse gases
in the atmosphere.
(b) Name any two greenhouse gases.
(a) SgAUSH § “ul SR 99TE’ SigH oiel i sl AT S@ o hiE &1 R0l SdEd|
(b) ‘T =R e’ STt g < T\ & A fated

OR ( 3T9dT)

Write any three measures that can help to check global warming.

foge SOM ol FEET 5 § ERE 8F 91 Shis dF 39 fafad)
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23.

24.

25.

Suggest any three methods to control air pollution.

91 YguUl i AR & *iE O SuE gesd|

Name the four parts of the apparatus used for demonstrating electrolysis
of water. Describe the basic details of this activity.

T % ToR[a 3Taered & fe@m el STl ® g g alel 9R J&F 96 & A
fafea| 59 gfsan & o faeron & ar o fafes

OR ( 319dT)

(@) Define electroplating
(b)  Which of the two :
(i) the article to be electroplated
(if) the pure metal to be plated,
is made the cathode and the anode during electroplating?

(c) State any three advantages of having chromium plating on taps.
(a) faggaerod s qRefia &1

(b) forgaera fran o

(i) ‘fo@ o%q W forgaerm foan s @
(i) I o, fmes o fan s @
¥ ¥ forg & hoie a1 forge! Tiie a9/ S 27
(c) 7@l W HIFIH & foaed & & &5 dF v Jaqisd|

(@) A box is first pulled along the surface of a table. It is then moved by
putting it on a collection of pencils. In which case would it be easier
to move the box and why?

(b) State two situations where friction would be regarded as an ‘evil'.

(c) Why would we not be able to write on a paper with a pencil if friction

were absent?

(a) O ! Hde W W T Hgh Teol et G <t 21 S o1 SH 2 i
% TR WH G 5 21 g feafa o G ot g etfuess s g
ST T2

(b) e 3 feerfan aared ST =vor 9 i FIHHRE T ST

(c) AR =1 51 7 & A &0 S R Ufgd T F T fam wma?
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OR ( 3T9dT)

(@ (i) Why are objects, moving through fluids, given special shapes?
(i)  What is the name given to these special shapes?
(il1) Give examples of any two objects whose designing is done to

make them have these special shapes.

(b) A ball is dropped from the same height, first in air and then in water.
In which case would it fall faster and why?

(c) How does air resistance change when the speed of the body, falling in
air, increases?

(a) (i) ot g7 d @ S =o ael axgsii & ‘favm omeR’ =i 3
S &7
(i) 39 fomiv SRR 1 M Fargd|
(iii) 3 U IEgeN & I3e0T e f5e ured | T fowy SR 1 SuE
fepan ST 21
(b) T 7% ! Ueh THH =1 9 HALT: ga a1 qrt o firren s @1 forg frerfa
o g oAfyss st @ fref? 2
(c) et ovg W Ta1 gR & aTen =uvl Jfiadie 39 a5 &1 gan ° iR &t 71fa

ag ¥ T YR SEer €2

26. (a) State three conditions that result in the formation of different varieties
of coal.
(b) Write any two characteristics of crude oil.

(a) 1 frufdal & IR o fafe™ ST ST ST & 3TeFT-3TeT Yeh 9
T foren ST 7
(b) %=d I ! T g fagiuad Fars

OR ( 3T9dT)

(@) Write any two differences between renewable and non renewable
sources of energy. Give two example of each.

(b) Name the petrolium products used for
(i) drycleaning of clothes.
(i)  making vaseline
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(a) HifHd IR oTEifq grepfass GEem ® g 9 At adEd| & & q-g

3R S|

(b) Ufe & 37 IAEeh! % A darzd ST T
(i) HIS h FEFA-T | (i) ogfed e o
fepa a2

27. (a) Select the most and the least reactive metals from the following list
of metals :
Magnesium, Sodium, Aluminium, Silver

(Copper
— CuSO, sulphate)

~—— Aluminium

I II

On the basis of the above diagram answer the following questions :
(i) All the three test tubes, numbered I, Il and Illl, contain a

blue coloured solution of copper sulphate and the metal named
there. Write the number of the test tube in which the blue
colour would fade out after some time.
(if)  Give reason for this change in colour.
(c) Name the following :
(1) A non metal which is lusturous

(i) A metal which has a low melting point.
(a) f=1 o @ waifues fwramiel 3 we@ w0 franie uget = Sife -
wfaferem, wifesm, tegfafem, =

(b) (i) W & fox d fS@E ™ I WEAfas d 98d Tid T 6 HIR
gewe faferad @R =@ foafad wh o i geft 81 %9 R 9% oy

~

@t/ fohe WAt | fafeas &1 T Wil 98 ST

(i) T S Rl R0 foliEd|
(c) 9™ &y :
(i) TH 2Au1g 1, S THHEN 2|
(i) Tk g k1, TSTHeRT Tk A BIdl 2
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Alternative Question for visually challenged Students in lieu of Q. 27(b)

gfe gunfam faenfdat & faw wew 27(b ) & WM W Jenfeasw woa

(b) Name the type of reaction, and write the reaction, that takes place
when a magnesium ribbon is dipped in copper sulphate solution.

(b) Hiifyrm e i iR Fowhe fafaam o gan W e ol sfufswan & ¥R
1AM qA B aTel sk fata|

OR ( 3T9dT)

(@) Differentiate between metals and non metals on the basis of the
following physical properties :
(1)  Thermal conductivity
(i)  Ductility
(b) On burning a magnesium ribbon, in air, a powder is formed.
(i)  Write the colour of this powder.
(i)  Name the compound formed?
(ili) State the nature of this compound.

~

(a) orgetl we srurgetl & e Frefafaa difas o0 & SR W =R T i
(i) SO =Tkl

(i) d=ar
(b) a1 H HHRMEH ®Id H M W TH YEEL el 2l
(i) =9 UR=e &1 W fafed
(i) = ore AR %1 T AR
(iii) =@ Ak &1 Ypfa s

Section - 'B' (@s-9")

28. Which of the following has a spherical structure?

(a) Red blood cell (b) Nerve cell

(¢) Muscle cell (d) Cheek cell
frefafiaa sifkEmet § ¥ %A @ MR SR $1 el €2
(@) T HITHT (b) TAeRT HITITERT
(c) =M =if¥reRT (d) et hif¥TeRT
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29.

30.

31.

32.

33.

34.

How many 'Biosphere Reserves' have been established in India?

(@) Four (b) Fifteen
(c) Ten (d) Forty five
IR o fepde ‘Stemvse SR’ & 1 T g »?
(@ =R (b) W®

() (d) e

Name the National park is India, that has that has maximum population
of one horned rhinoceros.

IRd & SH ULHE SgF &1 W fafed sEl T €0 9 el w1 ge
Hferhan B

Why do cells have different shapes?

IR T STHR STT-3TeT T 2l &2

"Viruses are a part of both the living and the non-living world". Comment.

“oEE STt sreEn eSS St | e €1 feuut wmifsE

(@) Define Rancidity.
(b) Name two chemical preservatives used to preserve pickles.

(a) ‘TfEEE =t ety i
(b) =R &l I & & Tl 99 | o orcd i 3 @re 9ieeyehi & =
fafe=

Mohan lives in a slum which lacks proper sanitation. His neighbours
frequently suffer from diarrihoea, vomitting, stomach ache and fatigue.
Mohan's family understands the importance and need of sanitation. They
try to educate others about the importance of hygiene and their efforts do
bring some change. Mohan feels that their small and continued efforts will
slowly make a big difference in the life of their neighbours as well as the
environment.

(@) Name any two values displayed by Mohan and his family.

(b) State the possible reasons for the diseases suffered by the people

living under unhygienic places?

Hie Ueh H | @dl € el Sfod TohTE ol 3196 81 I TSl SAfehay <&,
S, U2 <2 91 UhTEE 1 qehelithl W WM @d €1 Higd & URar i THE i
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Heeld] a1 SMFAHdl h1 A &1 J TR AN ol Treadl 1 Hewed & a) § S
W®d € SN S yAdl 4 |9 qREmA o 1 Wied @ fava € R s s,
T TAR, Tl § 39 YSIfadl & Sied qdl 39 ardeRel H a8l e
319 SR

(a) e @R SH RN arel § ®F 9 Jfaqged 8?2

(b) T9a=3 Ml § @+ Al dfll & dHR 984 & Srifad &Rul fad@|

35. (a) Explain any two human activities that are responsible for extinction
of endemic species.

(b) Give one example of endemic species.

(a) UH G & WM arel &1 Ulohaieti & R o waed fSme &Ror foum s
TSIt o el TE 2
(b) foem &= g=fd 1 T TR S|
36. (a) Label the indicated parts in the given diagram
(b) Write the functions of the
following cell organelles :

(i) Ribosomes
(i)  Endoplasmic Reticulum

(a) fsu 7u fem o faf=a 9t =i
IR A

(b) Tr=Afafaa wifdmeret & 9
w1 & fog
(i) TgaE™

(i) Terass ferged

For visually challenged Students in lieu of Q. 36(a)

gfte gurfaa faenfofel & foaq ues 36( a) & &M W Jkfcas w9

(@ (i) Write any two functions of cilia.
(if)  In which unicellular organism do you observe cilia?

(a) (i) dHifen & < %@ s
(i) 7" & FifeR Sa § difen 9w S 2

OR ( 3T9dT)
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(@) Name any two components present in the nucleus of a cell.
(b) (i) Name the part of the nucleus responsible for the inheritence of
characters from one generation to another.
(i)  Name the membrane which forms the boundary of the nucleus.

(¢) Write function of the nucleus.
(a) TR & H=h | Sufeyd & M & 99 ford|
(b) (i) ST &I HT A9 a1 STAMIH IO A AT Hl T TEr 9
el et W THiaRd e B
(ii) s ol foeel 1 94 FaEd|

(¢c) g &1 1 fafed)

37. (a) State one difference between a tissue and an organ.

(b) (i) Why do animal cells show large variations in shape as compared
to plant cells.
(if) Leaves are green in colour but tomatoes are red. Which cell
organelle is responsible for this difference?

(a) Sdeh 3R M (TE) & o9 S TH 3R Ta3|

(b) (i) iq HIHRIT IR HITRIST T T | 3T R | 3 faf=am
i fe@md 82
(i) fal B 1 1 Bt © iR THEX olel W1 o ShifSTeRT 1 hiv ©1 37

sgeh foru FmeR 2

38. (a) Define pasteurization.
(b) Define antibiotics. Give any two examples.
(c) Name the micro organism that causes

(1) influenza (i) cholera
(d) Write the mode of transmission of the following diseases :
(i) Typhoid (i)  Swine flu

(a) ARRHIOT I TR H|
(b) ufasifaress =1 gftam foe| sas € 32w S|
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(c) 39 gewsidl & 1 Jagd e R

(i) SToRUST (i) M (i)
BT 2
(d) TreAfafead SuiEr & e o1 TEaH R 2l ¢2
(i) THEA%ES (i) T %]
OR ( 3T9dT)

(@) How do vaccines help in producing immunity?
(b) The batter of idli turns fluffy and soft if kept overnight.
(1)  Name the process involved.
(i)  Which micro organism is responsible for this?
(c) Name any one disease caused by bacteria in the following :

(i)  poultry birds (if) cattle
(d) Name the micro organism that causes the following diseases.
(1)  smut of rice (if)  citrus canker

(a) S fore @ © e famial & s €2
(b) st 1 e Gl T@ W@ % 9% Fel Sl 2
(i) =99 B et ifufsan =1 9 S|
(i) A 41 geusid 38 Afafewan 1 SRoT e 22
(c) Tordt W T 1 98 Sy S AR & HR
(i) Hif (i) Wl
o 2 @)
(d) S ged Sfal & 98 Fargd s Frefafted el a3 €
(i) =& &1 T (T2 3% TEH)
(i) foem da

39. (a) Write any two global consequences of deforestation.

b) Suggest one solution to deal with the above situation.
c) How does river flow get disrupted due to deforestation?

(a) TAMIEH & RO fovd W M A0 ®IE I Y96 Jad|
(b) % T 3 waed f5ed 3@ feafa &1 g fevet @han 2
(c) oAFgeH ¥ Afeai & Jarg & aren fhg e o S 22

—_~ o~ o~
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OR ( 3T9dT)

(@) Why do animals and birds migrate?

(b) Migratory birds never get lost on the way during long distance flights.
Why?

(¢) (i) Which list is published in the Red Data Book?
(i)  Name the international agency which publishes this book.

(d) How are national parks different from wild life sancturies?

(a) Yo 9] 9eft T SE W SHA e A o &2
(b) Warelt Ueft ot Seml & SR oft o1 ARt A sper) A
(c) (i) ‘‘Ezags’ & HhH @ g 3d 2l

(i) I | AL GS 36 &ieh ] DAl €2

(d) ‘Ug SEm’ R ‘ol ARy’ | SR TR i
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